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B 2.1 5B x=3 (KA 3x+5=14F » 70 x=3 & B HIER 3X+5=141Vf# ?

Ex2.1: twbaEE - —2~ 8~ 11 =8 > W—(#2 52— 2x+3= —19/Yf# ?
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3.1 f#E— T — KGRI Xx— 7= 155
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EX3.1: i FIl& 70— KR ¢
(1) x—5=—5 (2)—4+x=5

B 3.2+ f—IC—RITRER 23=x+ 17 Wi -

EX3.2: it FoIl& 70— KR :
(1)—18=x+2 (2)x+13=22

1 3.3 fE—Jt— X hte S = —3WHRE -
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EX3.3: i FHIl& Tt Xzt

a X X_
1) 5=5 @ —5=-6 (©) 5 =2

i 3.3 fR—T0— R FFFEE xx3=12

Ex3.3: i F9l&—Tt—JO7HEst
(1) 8= —48 (2)-3x=21 (3)- 2x= — g

Bl 343 B RSl — Tt SRR
(1) x=2x+6 (2) &-+5=Tx+17

Ex 3.4: i Nyl&—TT—RI7HER
(1) %=3x—8 (2)—6x=3x+9
(3) &—5=6x—7 (4) 19-6x=—3x+10
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Ex 3.5: i P& —Tt—KITHER :
(1) 5x—4=—1—(x+3) (2) 32x—1)=2x+5

{13.6 + fiE— T —X e 3[2(1—x) +4X] =8

Ex3.6: it 51—t X 7FEt
(1)—2[3(x—2)—2x] =4 (2) 3[2(1-X) +4X] =8
(3) 8&—3[— 2x— (1—X)] =2(x+6) (4)— 13— 5[—3x— (4— 2X)] =2(x—7)
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1 7 1 7X 4X-=5
Dox=——= 2) =~ =1
()3X 5 1 () : 5

EX3.7: i FHI&—t— Akt |

x 1 Xx-3 Xx+5
1) - —5= — _
2 3 2 3

%—x 2) =752
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